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43 58.0 43 48. 8 71.9 55.6
44 = 36.3 18,0
45 = 2 19, 5
46 30,3 14
47 » 59.4 198
48 = i s
49 « 7.1 57,9
50 59.3 38 48.7 7.1 55.3
51 20,4 15
52 5b..2 }7 it
53 = 54. 9 17. 8
54 5b. & I8
b5 247 i7
56 i, F |
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PVIHZEERD MERBTRERR BEAR
RER% N1 BEEREZ—F

BIER :2021401H03H (A) WEXS . SHRE
R H A HuSE R - MR
N1 N2 N3 N4 N Lae Eaan Lieq Lasnax | ypepyL
LR i} 55 B | T
0 g 0 | 0 9 70.5 30.7 33.7 == = 57.9 40. 4
o (Higg) L 70z
F|5 R (EER)MEARELZ B -IuaT v SEEERSR BEERT L Rt L jeq
i dB i dB dB dB
T = e 0.44:07 02, B — 15 = —
2 = 71 19, 6 15, 1
3 = 52,9 16, 9
4 58.4 70 45.0 71.0 52.6
g 58.6 28 44. 7 70.1 55.7
6 57.5 45 45.9 Tl.1 54.6
7 iGN 55.9 68 43.1 70.3 52.0
8 % B2. 6 36, 6
9 = 52.2 15
10 = 53.5 15,4
11 # 53,0 = 16 == — -
12+ 32, 8 — 16,5 1152
13 56.8 34 46, 7 69. 2 4211 53.9
14 57.0 12 46. 8 64.9 4622 54
16 = 65,1 — 15, | — 1856
16 = 33.9 18, |
17 = B. 47,1 1651
18 = 6, 3 17, 9 5967
19 57.5 44 46.0 70.4 515 54.0
20 = 55. 9 16, 4 1014
21 239 16, O 1014
22 % a9 17.2 1.8 1011 1
23 ¢ 50, 4 46 ;
24 = 31, 5 16, 8 3480
25 56, T 16, & 1043
26 +* 6.1 16, 8 1014
27 o+ i, 2 18, 2 1014
28 = 53,1 16, 4 1014
29 6,1 J 1043
30 V6, 7 37 104
31 » 58, 8 16, 4 2 15 5
32 = l 21 45, 8 { g7 o
33 - 4 18, 1
34 a4 8 48
35 9, 1 2 47 2 5, 1
36 60,7 33 18 =0 1 £ia
a7 58.9 50 48. 4 T2.2 55.2
38 7 e
39 57.8 - 18 - —
40 7.9 - 48 - —
41 = 8.1 — 18 —~ - -
42 &K 59.1 43 47.7 7.7 3712 55.3
43 = 7 - 18 - 1398 —
4 « ¥ 3 '
45 + 5.7 47
46 53,7 47.5
47 =+ 4.1 18 22
18 =« 3.1 7
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